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Guess Paper – 2009

Class – XII

Subject – MATHEMATICS

Max. Marks: 100






 Time:   3 hours.

--------------------------------------------------------------------------------------------------------------                                                                                                         

 General Instructions:

1. All questions are compulsory.

2. The question paper consists of 29 questions divided into three sections A , B and  C.   

    Section A comprises 10 questions of one mark each, section B comprises 12  

    questions of four  marks each  and  section C comprises of 07 questions of  six marks  

    each. 
3. All questions  in section A are to be answered in one word, one sentence or as per the 

    exact requirement of the question.  

4. There is no overall choice. However, internal choice has been provided in 04 questions  

    of  four marks each and 02 questions of six marks each. You have to attempt only one  

    of the alternatives in all such questions.  

5. Use of calculator is not permitted. However, you may ask for logarithmic table 

    and statistical table if required.

SECTION-A

1. Let * be a binary operation on N given by   a * b = H.C.F. ( a , b ) ,  a, b 
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 N. Find 12 * 4.

2. Evaluate :  
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3 . A is a non-singular matrix of order 3 
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 3 and 
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 = 9. Find  
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4. Construct a  2 x 2  matrix whose elements are 
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5. Using determinants find the value of k for which the points ( k , 0 ) , ( 4 , 0 ) and           
    ( 0 , 2 ) are collinear.
6.  Evaluate  :    
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7. Evaluate :     
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8. Find the projection of the vector 
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 9. If  two vectors 
[image: image12.wmf]®

a

 and 
[image: image13.wmf]®

b

 are such that  
[image: image14.wmf]®

a

 = 3 , 
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       find    
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10. The Cartesian equation of a line is 
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        cosines. 
SECTION  B
11.  Let  
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be a function defined as 
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of  f is invertible. Find the inverse of f.
12. Using properties of determinants show that   
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                                       OR

      Solve for  
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13. Solve for 
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      If 
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14. If  f (
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 ) defined by the following, is continuous at x = 
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, find the values of a and b. 
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15. If 
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OR

      If  x = 
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                i) 
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16. Find the interval in which the function  
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17. Evaluate:  
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      Evaluate:       
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18. Solve the differential equation: 
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19. Solve the differential equation:
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20. Let 
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.Find a vector 
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      which is perpendicular to both  
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21. Show that the lines  
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      intersect. Find the point of intersection.

22. A  company  estimated that the probabilities of success for three products introduced           

in the market are 
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, 
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 and  
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 respectively . Assuming independence, find     the probability that i)  one of  the product is  successful . ii) at least two of them are successful .
SECTION C

23. If  A = 
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 and use it to solve,
x  + 2y  – 3z   = - 4  

2 x + 3 y + 2 z = 2
3 x  - 3y - 4z = 11
OR
      Using elementary transformations, find the inverse of the following matrix:
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 24. Find the largest possible area of a right angled triangle whose hypotenuse is 5cm 

       long.
OR

       Show that the semi vertical angle of the cone of given surface area and maximum 

       volume is 
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 25. Evaluate:  
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 26. Using integration, find the area of the region bounded by   
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 27. Find the image of the point having position vector
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28. A dealer wishes to purchase a number of fans and sewing machines. He has only          

      Rs.5760 to invest and has space for at most 20 items. A fan costs him Rs.360 and a 

      sewing machine Rs.240. His expectation is that he can sell a fan at a profit of Rs.22  

      and a sewing machine at a profit of Rs.18. Assuming that he can sell all the items that  

      he can buy, how should he invest his money in order to maximize his profit ? 
      Translate this problem into an L.P.P and solve it.  

29. A doctor is to visit a patient. From the past experience, it is known that the  

      probabilities that he will come by train, bus, scooter or by any other means of 

      transport are respectively 3/10, 1/5, 1/10 and 2/5. The probability that he will be late 

      are ¼, 1/3 and 1/12, if the comes by train, bus and scooter respectively, but if he 

      comes by any other means of transport, then he will not be late. When he arrives, he 

      is late. What is the probability that he comes by train?
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	Point of interaction is 
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Elementary row or column transformation method
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	Solving 
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	Equation of perpendicular line is 
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	Maximize z = 22x  +   18y
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	A = coming late : 
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